Gidi bai 5 trang 154 sgk todn Dai S6 16p 10

P& bai:
Tinh sin 2a, cos 2a, tan 2a, biét

a)sina= —-0,6vawr <a < %

bjcosa=-zvas <a<mw

c)sina+cosa:%vé%’1 <a<m.

Pap an:

a)sina = -0,6va 7 <a < 3—)”

sin2a = 2sinacosa (1) (céng thic)
Mawm<ac< 37":>cosa<0

vasina = —0,6 = cosa = —
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(1) < sin 2a = 2.(~0,6). (_g)@ sin2a = 2

cos2a=1-2sina=1-2
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_sin2a _ 24 2%_
tan2a = r = . 5= 3
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b)cosa = 13vé12<a<7r

Vi 5 <a<wnénsina > 0;tana <0

-5 ina — 12
vacosa = l3nénsma_13
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cos2a =2.cos’a—1=2.75 — 1= —1&

__ sin2% __ 120 160\ _ 120

tan2a = 50 = (—Tefa) - (—Tra)— 110
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C)Sina+cosa=%va %<a<”

\ﬁ:’—;r < a < mwnénsina > 0;cosa < 0

cos?a + sina = 1 cosa:#
sina+cosa=% }=> sina:b;._*’i
Suyra sin2a=2.'+4ﬁ.l-4_ﬁ=—73
°°S2a=1—2sin2a=1_2(1_._‘£)2=4
tan2a:—3T‘ﬁ
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